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+60 ,

84+7

18+80

76+30

(b) s3

(d) 86

+30
-----------)

+20---->

E
E

(b)

(d)

(f)

48+9

45+90

54+50

3. Write the missing numbers.

(o) (b)

* lo //V\*,"/ 
\(G-\ *tt'O

.r./-O\.
(6+-\ *zu O

4. Add.

(o) s8

(b) 46

@) 2a

(d) 47

+34=

+24=

+68=

+62=



EXERCISE 2
1. Add.

(o) 58+34=
,/\
232 "lt

q"g",t
tF-1t',

(b) 37 + 49

36 1

(c) 87+43=

340

(d) 69+s4=

(") 98+47=

(f) 45+95=

(s) 52+98=

(h) 49+36=

6



2. Add.

3. Add.

(o) 32+28= (b) 45+55=

(c) 44+26= (d) 59+gt=

(") 66+34= (f) 59+41 =

(g) 63 +zl = (h) 18+82=

(o) 99+6 = (b) 98+4 =

(c) 98+43= (d)

(e) 83+99= (f) 98+37=

(g) 98+92= (h) 96+99=

(i) 99+98= (j) 99+gg=



EXERCISE 3
1. Subtroct.

2. Write the missing numbers.

(o) s6--!e+l ]--5[--_]
s6-34=[- ]

(b) 87 --35E--r-[ l

87 - 47

(c) 77 --\

77 -75
8



3. Subtroct.

(o) 69-47=

(b) 88-78=

(c) 95-35=

(d) 30-27=

Subtroct.A

(o) 
,a\- 

ss =

20 60

(b) 60-47=

10 50



a

EXERCISE 4
'1. Write the missinq numbers.

(o)

(b)

2. Multiply.

2tensx6= tens 20x6=124

3tensx5= tens 30x5=

4tensx5= tens 40x5=

5tensxT= tens qnvT-

6 hundreds x4= hundreds 600x4=

2x8= 20x8= 200x8=

3x7 = 2n-7- 300x7=

4x6= 40x6= 400x6=

5x8= 50x8= 500x8=

6x6= 60x6= 600x6=

7 x8= 70x8= 700x8=

10



3. Multiply.

(o)

3tensx4= renS

30x4=

(b)
$ 100 $ 100

4hundredsx2= hundreds

4OO x2 =

(c) 80x5= (d) 20x6=

(e) 20 x7 = (f) 40x8=

(g) 50x4= (h) 90x9=

(i) 60<3= (j) 7Ox2=

(k) 300x8= (l) 800x6=

(m)400x9= (n) 600x5=

(o) 700x4= (p) 2ooz3-

(q) 900x2= (r) 500x7=

11



EXERCISE 5
1. Write the missing numbers.

(o)

2. Divide.

8tens+2= tens 80:2=

9 tens -r 3 = tens

l0 tens -r 5 = tens 100-5-

t hundreds+ 3= hundreas 900+3=

12 hundreds+ 3= hundreos 1200+3=

60-2= 600-2=

80-2= 800+2=

15-3= 150+3- 1500-3=

12O - 4= 12OO + 4=

160 + 4- 1600+4=

18 -: 6 = 180+6= 1800: 6 =

12



3. Divide.

(o)
$10 $10 $10 $10

20 tens /t- tens

2OO-4=

(b)
$ 100 $ 100

l0hundreds*2= hundreds

1000-2=

(c) 120*6= (d) 640-8=

(e) 2to=z= (f) 450*s=

(s) 24O+4= (h) 160+2=

(i) 250+5= (j) 49O*7=

(k) 1800-2= (l) 24OO*3=

(m)2000+4= (n) 3500+ 5=

(o) 4000+ 8= (P) 4200+7=

(q) 5400*6= (r) 3600-r 9 =



EXERCISE 6
1. Write the missing numbers.

(o) 1m-53cm=_cm
(b) 1m-85cm=_cm
(c) 1m -74cm =_cm
(d) 1m-78cm=_cm
(e) 1m - 9-l cm =_cm
(f) 1m -62 cm =_cm

2. Work with your friends.
Cet o meosuring tope from your teocher.
(o) Estimote the length of your clcssroom.

Then meosure the length with the meosuring tope.
(b) Estimcte how for you con wolk in 5 steps.

Then meosure the distonce with the meosuring tope.

My estimote My meosure

Length of
croSSroom cDout m obout m cm

Distonce
in 5 steps obout m obout m cm

3. Write in centimetres.

(a) 2m=-cm (b) 3m=_cm
(c) 5m=-cm (d) 9m=_cm

14



4. Write in

(o) 400

(c) 700

5. Write in

(o) 1m

(b) 3m

(c) sm

Write in

(o) 210

(b) 27s

(c) 306

7.

metres.

(b) 600 cm =

(d) 8OO cm =

cm=

cm=

cm

m

centimetres.

50cm=

28cm= cm

9cm=

o. metres ond centimetres. 200 cm
21O cm

o

2m.
2m10cm.

m_cm
mcm
m_cm

Circle the correct onswer.
(o) 135 cm is longer thon/equol to,/shorter thon
(b) 108 cm is longer thon,/equol tolshorter thon
(c) 230 cm is longer thon,/equol to./shorter thon

1m40cm.
1m8cm.
2m3cm.

B. Write the missing numbers.

(o) 2m-
(b) 2m-
(c) 2m-
(d) 3m-

190 cm = cm

1m65cm= cm

1m5cm= cm

2m30cm=
'15

cm



EXERCISE 7
1. Add.

(o) 3m60cm+25cm=

(b)  m25cm+45cm=
(c) 5m74cm+ 36cm=

1

cm

cm

m

^cc In compouno untts.

(ol lm45cm+2m/5cm=

\D) Zm 55Cm+JmJUcm=
(c) 3m28cm+4m40cm=
(ol tmyucm+lmJbcm=
feJ 4mz+dcm+2m lQcm=

cm

cm

cm

cm

60cm+25cm=85cm

'1 m45cm *" r3m45cm +75.* > 4m2ocm

m



3. Subtroct.

(o) 1m8s cm-75cm= m

m

cm

cm

cm

(b) 3

(c) 7

m34cm-75cm=
m25cm-86cm=

Fill in the blonks.

(a\ L rn 9,4 r^n - ? rn Q( rr- -\ur, T ,,, e- r,,l

6 m 32 cm -2m20 cm=

5m25cm-1m40cm=
8m36cm-4m50cm=

m

4m84cm -t^ r2mg4cm -95cm >1m89cm

4.

(b)

(c)

(d)

cm

cm

cm

85cm*75cm=10cm

ofo

17

m cm



EXERCISE 8
1. Drow o stroight line

to 1 km.
lf you do it correctly,

950 m

790 m

to join eoch

you will get

860 m

57O m

poir of lengths

three squores.

.650m

. 480 m

thot odd up

"140 m

330 m

430 m

.50m
520 m

820 m

35O m 21O m

180 m
670 m

2. Write the

(o) 1km

(b) 1 km

(c) 1km

(d) 1km

(e) 1 km

(f) 1km

missing numbers.

-980m=
-890m=
- 'l9O m =

- 42O m=

-920m=
-880m=

km = 1000 m

18

m



EXERCISE 9
1. Study the mop ond onswer the questions below.

How for is Singopore from Penong?

Which town is neorer to Singopore,

Molocco or Kuolo Lumpur?

Penong

.;

Mold s
Singopore

\.1 \
\'t'-'t'u/

280 km

Kuolo Lumpur

328 km

(o)

(b)

How much neqrer?

19



tnHol
lntrol

EUSI
Town C

tEr Hol
IBHBI-

23 Vm ,/,.' EEgJ

,/ Town B

IEffiI,/
IEE4

Town A Town D

2. Fill in the blonks.

(o) The distonce between
Town A ond Town B is

(b) The distonce between
Town B ond Town D is

(c) The distonce between
Town C ond Town A is

(d) Town B is 

- 

further from Town C thon from
Town A.

(e) Town C is 

- 

neorer to Town B thon to Town D.

3. (o) 2 km=-m (b)  km=-m
(c) 5km=-m (d) 8km=_m

4. Write in kilometres.

(o) 3000m=-km (b) 6000m=_km
(c) 7000m=-km (d) 9000m=_km

20



EXERCISE 10

1. Write in metres.

(o) 1km 145m=-m
(b) 3km 50m=-m
(c) 1km298m=-m
(d) 2km 78m=-m
(e) 2km580m=-m
(f) 1km 6m=-m
(g) 3km670m=-m

2. Write in kilometres ond metres.

(o) 1732m=-km_m
(b) 1305m=-km-m
@) 22aS m =- km m

(d) 1300m=-km-m
(e) 3260 m= km-m
(f) 3006m=-km-m
(9) 2108m=-km m

3. Circle the correct onswer.
(o) 1250 m is longer thon/equol to,/shorter thon

1km25m.
(b) 3300 m is longer thon,/equol tolshorter thon

3km30m.
(c) 3009 m is longer thon,/equol to,/shorter thon

3 km 900 m.

21



4. Study the mop ond onswer
the questions below.

(o) Whot is the distonce from the comp
to the pond?

(b) Whot is the distonce from the comp
to the well?

(c) Which is further from the comp,
the pond or the well?

How much fu rther?

(d) Minghuo hiked from the comp to the
mountoin ond bock to the comp.
How mony metres did he hike?

(e) Whot is the distonce from the villoge
to the pond?
Give your onswer in kilometres ond
metres.

Villoge
Mountoin

-/D
..6'.@"

22



EXERCISE 11

1. Add.

(c) 1km600m+250m=

2.

(b)

fr)

(d)

(f)

2km760m+42O
4km850m+380

Add in compound units.

(o) 2km460m+3km650m=

km-m

km-m
Km_m

km-m

(b)

(r)

3km620m+4km350m=
5km580m+4km620m=
4km55Om+1km600m=
6km920m+2km280m=
7km850m+3km250m=

Km_m
Km_m
kmm
Km_m
Km_m

600m+250m=850m

2km46o m +3km ) 5 km 460rn -16!9.-+ 6 km tlo m

o

23



Subtroct.

(o) 2 km 72Om-650m= km-m

km-m
km-m

(b) 4km460m-520
6km 50m-790

Subtroct in compound u nits.

(o) 3km900m-1km250m=
4.

km-m

3 km 9oo m --1!\ 2 km 9oo m -?!9'--r 2 km 650 m

(b)

(c)

(d)

8km440m-2
5km 30m-1
9Km/2Um-Z

km520m=
km280m=
km800m=

Km_m
Km_m
Km_m

720m-650m=70m

2+



EXERCISE 12

1. Work with your friends.
You need o weighing scole.
Estimote the weight of eoch of the following.
Then check by weighing.

2. Write the weight of ecch of the following.

(o) (b)

My estimote My meosure

A 2-l bottle
of woter obout kg obout kg g

A school bog obout k9 obout kg g

A brick qbout kg obout kg S

lAdi
I r-/- ,\\

!i(.ifl,

,'J.

K9 _9
25

K99



Write

(o)

3. the weight of eoch of the following.

(b)

(d)

k9-g

(c)

Kg_9

I

a

sp sooe

K0
k9

'/

V.2

,}roon f\
ks

26

kg-g



EXERCISE 13
1. Write the missing numbers.

(o)

(c)

(e) 1k9-75Og=- 
S.

(f) 1k9-3909= 

-s

(b)

(d)

G)

(h)

1kg- 1509=_g

1kg-22O9=-g
27



9095 9

2. Motch.

\

\
\
\
\
\
\
\
\
\

\

6tgosos

9kg 959

9k990sg 9950 g

9590 g9kg s9s

9059 g9kss90s

2a



5- Drow o stroight line
lf you do it correctly,

1

1 k9 '10 
9

1250 g

to join eoch poir of equol weights.
you will trop eoch onimol in o squcre.

kg 1.009 .1kg25og
.1kg25g

r 1100 9

2k9259

1010 g

3k989

o ' 3080 I
3008 9

2ks50g

1O25 g

3ks80s

2025 9

29

r 2050 9



EXERCISE 14
1. Write in grcms.

(o) 1kg800g=-9
(b) 6ks 20s-_s
(c) 2kg 300 g = 

-g
(d) 9ks 2s=-g
(e) 4ks 839-_s

2. Write in kilogroms ond groms.

(f) 8 ks 15 s=-n

(o) 1280 g =

(b) 4069 s =

(c) 2506 g =

k9-g
ks 

-gk9 

-9
(d) s108s=-kg_s
(e) 3009 s - 

- 
ks _s

(f) 60049=- kg- s

5. Ltrcte tne correct onswer.

(o) 3 kg 5 9 is heovier thon,zequol tollighter thon 3O5O g.

(b)

t'r)

(d)

2 kg 20 9 is heovier thon,/equol tollighter than 2O2O g.

4 kg 8 g is heovier thon,/equol tollighter thon 4010 g.

1 kg 86 9 is heovier thon/equol tollighter thon 10g6 g.

30



a. (o) Which is heovier, the duck or the hen?

sog

The is heovier thon the

(b) which is lighter?

k990q

2780 s

Bog

5. Fill in the blonks.

1k967 9

is lighter thon Bog

7649 2670 g

is the heoviest.

is the lightest.

Bosket

(o)

(b)

(d)

Bosket

Bosket

Bosket A is

Bosket C is

heovier thqn

lighter thon

2k97OO9

Bosket



EXERCISE 15

1. Add.

(o) 1k93009+550g=

3009+5509=850g

O

k9-s

Kg _9
k9-s

2.

(b) 2ks650s+600g-
(c) 3kg850g+43O9-

Add in compound units.

(o) 2kg245g+1kgs2Og-

(b)

(c\

(d)

4k96809+
3kg 959+
4kg8O4g+

1kg57Og=

2kg960g=
3kg2O5g-

32

ks 

-s

kg-9
Kg_9
k9-s

f" 
"-*

2kg245 s *toe ) 3 ks 245 s -l:29-9) 3ks76s g



3. Subtroct.

(o) 4k9850s-760s-

4. Subtroct in compound units.

(o, zK9Jz+g- tK9 /669=

5k9259-48Og- kg-9

7kg-3659= k9s

(b)

(d)

4kg

3kg

10 kg

309-1k92889-

1459-2k92959=

5g-3k92699-

kg 

-g

k9-s
Kg_9

K99

sl

33



EXERCISE 16
1. (o) Totol

poste

=

weight of the
ond the book

(b) The weight of the
poste is 100 g.

Weight of the book
=

2. (o) Weight
=

of bottle of sond

(b) The weight of the
empty bottle is 150

Weight of the sond

9.

50 s0
I,Jr- 1oo

2SO 150

3sn so

300 b 100

250 150

34



3. (o) Totol weight
=

of the fruits

(b) The mongo weighs 130

Weight of the 2 opples

=

9.

(c) The opples ore

Weight of eoch

=

of the some

oppre

weight.

4. (o) Totol weight of 2 tennis bclls
ond 5 morbles

(b) Ecch tennis

Weight of 2

boll weighs 60

ten nis bolls

s.

Weight of 5 morbles

=

(c) The morbles ore of the some weight.

Weight of eoch morble

350 so

ro-i{ 1oo

250 150

,a-N

35



5. (o) Weight of the bog of rice

(b) The cost of the bog of rice
is $5.

Cost of 1 kg of rice

6. (o) Weight of the chicken

(b) Mrs Lim poid $6 for the chicken.

Cost of 1 kg of chicken

36



REVISION 1

1. Seporote these numbers ond

354, 1229,

even numDerS.

1350

numbers into odd

13, 72, 127,

2. Find the onswers by following the orrows.

t""t
\t8\

ll--^*ll
3. (o) Whot

(b) Whot

(c) Whot

(d) whot

number is

number ts

number is

number is

3000 more thon 3250?

200 less thon 45 603?

1 more thon 4999?

10 less thon 2019?



4- Write the missing numbers.

(o) 1m-92cm=_cm
(b) 2m-1m55cm=_cm

tcJ 5m-2m35 cm=_cm
(d) 1km-70m=_m
(e) 2km-1km690m=_m
(f) 3km-2km480m=_m

(s) 1kg-60g-- s

(h) 3kg-2ks790s=_s
(D 4kg-3ks84o9=-s

5. Find the distonce between the librory ond the swimming
pool.

3 km 120 m _ __- _i
o._'l km 250 2

Foo.d Librory
cenrre

Swimming pool

38



6. Mr Wu hod two bunches of lychees.
One bunch weighed 2 kg 750 g.
The other bunch weighed 2 kg 860 g.
Find the totol weight of the two bunches of lychees.

7. One con of soft drink weighs 256 g.
Find the totol weight of 9 cons of soft drink.

8. Siti poid $8 for 4 kg of fish.
Whot wos the cost of 1 kg of fish?

39



I

9- Cik Hoycti bought 7 English storybooks ot g12 eoch.
She bought o dictionory which cost g25;
How much did she,spend oltogether?

10. 6 people went to o restouront for lunch.
They ordered 4 plotes of food which cost g12 eoch,
They shored the cost equolly.
How much did eoch person poy?

40



REVISION 2
1. The totol cost of 5 storvbooks is $90.

Find the cost of 1 storybook.

2. The difference between two numbers is 50.
lf the bigger number is 120, find the smoller number.

3. The length of o rectongle is 72 cm.
The breodth of the rectongle is 8 cm.
How mony times is the length os long os its breodth?

41



4. The distonce between Meiling's house ond the MRT stotion
is 3 km 300 m.
The distonce between the Food Centre ond the MRT stotion
is 1 km 500 m.
Whot is the distonce between Meilinq's house ond the Food
Centre?

Meiling's
house

5. Mrs Wu used 3 kg 500 g of flour to boke chocolote cokes.
She used onother 800 g of flour to boke cookies.
How much flour did she use oltoqether?

42



6. Mr Lin sold 4O2 mongoes on Sundoy.
He sold 35 fewer mongoes on Mondoy thon on Sundoy.
How mony mongoes did he sell oltogether?

7. The sum of two numbers is 180.
lf one number is twice os biq os the other number, find the
bigger number.

43



I

8.
J ti;n-g1a some prqwns,weigh:,6, kgr
Eoch fish weighs 628 o.
Find the weig-ht of the:prowns.

9. A toilor bought 125 m ofried cloth
Eoch metre of,cloth cost 95.
How much did he poy oltogether?

qnd 215 m ofrblue,Cloth.

44



EXERCISE 17

Work with your friends.
You need o 1-l beoker, o 500-ml beoker ond o 100-ml bear<er.

1t

500m1

-500m|_400

- soo

-200
too

'1. (o) Meosure 100 millilitres of wqter with the 1OO-ml beoker.
Pour the water into the 1-l beoker ond note where the
woter level is.

(b) Repeot (o) until the '1-4 beoker contoins 1 litre of woter.

'.-i-s

ml

45



t
2. 6et o teosDoon.

Find out how mony teospoons of woter will moke up 10 ml.
Then find the ccpocity of the teospoon.

The copocity of the teospoon is obout

? Ca+ a

Estimote how mcny millilitres of woter the poper cup con hold.
Then check by meosuring the copocity of the poper cup.

poper cup

46

mt.

500 ml

400

300

The copccity of the is obout mt.



EXERCISE 18

Work with your friends.
You need c 100-ml beoker.

1. Cet o olostic bottle which con hold 1 litre.

Use the bottle to moke your own meosuring contoiner.

Your meosuring contoiner will look like this:

Use the meosuring contoiner you hove mode for the octivities
on the next poge.

Pour 100 ml of woter
into the bottle.
Mork the woter level.

Pour onother 100 ml
of woter into the
bottle.
Mork the woter level.

And so on,

47



2. Cet ony three smoll contoiners.
Ecch contoiner hos o copocity less thon 1 litre.
Lobel them A, B ond C os shown.

OAE
Estimote ond then meosure the copocity of eoch contoiner.

Cet o poil, o bosin ond o big bottle.
Each contoiner con hoid more thon 1 litre of wqter.
Estimote how mcny litres of woter will fili eoch contoiner.
Then check by meosuring the copocities of the contoiners.

3.

Contoiner My estimote My meosure

A cbout ml cbout ml

B oDout ml obout ml

obout ml obout ml

Contoiner My estimote My meosure

o poil about t obout 

- 
(, 

- 
ml

o bosin obout e obout-l- ml

c big bottle (obout obout-{-ml

48



EXERCISE 19

1. Motch.

10O0 ml

800

600

400

@
@

@
@
@
@
@
@
@

300 ml



How much woter is there in eoch contoiner?

(q) (b)

mtml

mlml

ml

50

ml



EXERCISE 20
1. Drow o stroight line to join eoch poir of omounts thot qdd

uptol (.
lf you do it correctly, you will seporote the robbits from one
onother.

725 ml 495 ml

890 ml

"sf),srsf

.aP6l
€ilt h,4,6!

,JV
#Kn

- -->N$ /z;-)'.)- &:+-----s-

1"t0 ml

645 ml

355 ml

505 ml 275 ml



2. Write the missing numbers.

(o) 7r-1 (b) F4.]
-----\ ---\

Fo 'd I [-;r I [E tsso;il

(c) lil-_] (d) Fr -l

,--\ ---\Fo;il Fi.l [-E t o--f

3. Write the missing numbers.

(o) 1t- 860ml =-ml

(b) 1(-42Oml=-ml

@) 1A- 750m| =-ml

(d) 14- 340m| = ml
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EXERCISE 21

1. Motch.

1412Oml

1l35ml

1(350m|

2(5OOml

24 Soml

2( 1 120 ml

2000 ml

1350 ml

53



T

2. Write in millilitres.

(o) 1l100ml =-ml
(b) 1(725 ml =_ml
(c) 14640 ml =-ml
G) 2e 855m| =_ml
@) 2A 25 ml =- ml

(f) 34 5ml =-ml

3. Write in litres ond millilitres.

(o) 1300 ml =-{_ml
(b) 1450 ml = 

- 

(, _ ml

(c) 2090 rl = (_ml
(d) 2105m| =-(- ml

(e) 3075 ml =-l_ml
(f) 4005 ml = 

- 

(. 

- 

ml

4. Circle the correct onswer.

(o) 1 1650 ml is more thon/equol tolless thon 1065 ml.

(b) 2 ( 75 ml is more thon/equol tolless thon 2750 ml.

(c) 3 d 30 ml is more thon/equol tolless thon 3030 ml.

(d) 3190 ml is more thon/equol tolless thon 3900 ml.

@) a 410 ml is more thon/equol to,/less thon 4100 mt.



EXERCISE 22
1. Add.

(o) 1{ 400mI +350m| = ml

(. 4O0 ml + 3s0 ml = 7s0 ml )

ml

ml

ml

(b)

1r)

(d)

ml

2. Add.

(o)

2e45Oml +550m| =

3(75Oml +400m| =

4(85Oml +640m| =

1(340ml +2(42Oml=

t

/h\

fr)

2(25Oml+1(640mI =

3(670 ml + 1{400m| =

3{ 85ml+2(960m| =

4(706ml +3{3O8ml = (

ml

ml

ml

1|34oml *2( >3t340ml *420'l 
> 3(760ml

55

ml



3. Subtroct.

(o)3 { 74O ml - 560 ml =

4(820m| -780m| =

5( 30 ml -360m| =

6{- 50 ml =

4. S ubtract.

(o) 3{830m| -11650m| =

1, ml

(b)

(c\

(d)

(

ml

ml

ml

( ml

/hi

(c)

(d)

21824 ml - 1 { 760 ml =

4{ 40ml-1(375m| =

3{ 150ml -2( 390m| =

9( 5ml -3(.284m| = (

ml

ml

ml

74O ml - 560 ml = 180 ml

3 { 830 ml -1 | > 21830 ml -6s0m > 2 { 180 ml

56

ml



EXERCISE 23
Fill in the blonks.

1. The jug ond the woter bottle ore filled with woter.

(o) The jug holds ml more woter
tho n the woter bottle.

(b) The totol copocity of the two contoiners is

mt.

2. Mr Chen bought 3 tins of point.

Tin A contoined litres more point thon Tin C.

{50m|

(o)

(b) The totol copocity of the

Mr Chen used 8 { 400 ml

3 tins is litres.

of point to point his house.

n
tl

u
a

He hod

57

ml of point left.



3. There ore 375 ml of milk in o oocket.
Whot is the totol omount of milk in 6 pockets?
Cive the onswer in litres ond millilitres.

4. Copol bought 4 tins of point.
Eqch tin contoined 3 I of ooint.
After pointing his house, he hod 2 4 45O ml
How much point did he use for pointing his

of point left.
house?
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EXERCISE 24
1. A group of children

times ot which they
mode this picture groph to show the
get up in the morning.

Stud

(o)

y rne gropn ono T t In tne

children get up

blonks.

ot 6.15 o.m.

I (b) 4 children get up ot

(c) more children get up ot 6.00 o.m. thon ot
6.45

The

o.m.

greotest number of children

children get up before

(d) get up ot

6.30 o.m.

ffi
ffi

ffi
m
ffi

ffi
ffi
ffi
ffi ffi

6.00 o.m. 6.15 o.m. 6.30 o.m. 6.45 o.m.

Eoch ffi stonds for 4 children.

(")
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2. This

Number
of

pupils

in the blonks.

There ore
Group C.

There ore

22

20

18

16

14

't2

10

8

6

4

2

0
B

Group

os in:rCroup D..

more pupils in Croup A thon in

times os mony pupils in Croup B

.pupils oltogether.

60

Fill

(o)

(b)

(c) There ore



f

I

l3 This bor groph shows the number of eggs sold by Mrs Lin
from Mondoy to Fridcy.

Fridoy

Thursdoy

Wednesdoy

Tuesdoy

Mondoy

Study the grcph

(o) Mrs Lin sold

'100 200 300 400 500 600 700 800 900 1000

Number of eggs

ond fill in the blonks.

eggs on Fridoy.

(b) She sold more eggs on Fridoy thon on
Thursdoy.

She sold 450 eggs on

She sold twice os mony eggs on Tuesdcy os on

eggs oltogether on

51

(d)

(e) She sold the five doys.



EXERCISE 25
1. This bor groph shows the number of books reod by five girls.

Number
of

books 10

Devi Mory

15

Study the groph ond flll in the blonks.

Devi reod books.

She reod

reoo tne

(c) reod the

She reod

Siti reod more DooKs

(o)

(b)

(d)

(u)

most books.

books.

fewest books.

books.

thon

twice os mony books

62

Meiling

Mory reod os

Meiling.



2. This bor grophs shows the sovings of five pupils.

Sovinqs
($)-

100

90

80

70

60

50

40

30

20

10

0 Betty Sumin Roju

Study the groph ond fill in the blanks.

(o) Weili soved

(b) Betty soved more thon Rosni.

soved twice os much os Weili.

soved the most.

The totol sovings of Rosni, Betty ond Sumin wos

(c)

(d)

(e)
i

I

IL



3. This bor gr:oph shows the number. of.stomps. collected by
five boys.

500

450

400

350

300

Number --^of z>u

200

150

100

50

0

Study the groph ond fill

(o) Romot collected

Somy Dovid Romot

stomps.

fewer stomps thon Rosli.(b) John collected

(c) John collected 50 more stomps thon

collected 3 times os mony stomps os Dovid.(d)

(e) If Rosli gove Dovid stomps, they would eoch
hove on equol number of stomps.

64
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REVISION
1. Poir up the

3
numbers which moke 100.

@)
a

.\_-/
t r q? )
t\'-,/

/ ,----''--.\
io(Jd,

1'---'''/

a,,'-;\
\''_/

a--'-----\
alt6)

\zo,

(4)).

7-'l-\3
\...-",,

a
( ?a" )\......-- _,,,,

of omounts which moke $10.
seporote the opples from one

$6.s5 $s.6s

$6.1s

$0.70

$4.9s

$3.8s

@.

Drcw o line
If you do it
o noth e r.

to join eoch poir
correctly, you will

$1.25 $4.3s

65

$7.80 $8.7s

$s.05

$3.45

$9.30



3. Fill in the blonks.

(o) 3m 1Ocm=-cm (b) 285 cm =

(c) akg s09 =-9 (d) 30s0s

(e) 2knr5m

(g) 38 60ml =-ml (h) 4005m| =

4. Addor subtroct.

(o) 4m 65 cm

(b) 6km30m

(c) 3ks 9ss

(d) s{ 50ml

=_m_cm
=-Km_m

=_ Kg _g

=- (, 

-ml

m-cm

Kg_g

Km_m

4 
- 

ml

+2m80cm

-2km45m
+ 2k975 g

-249Oml
5. Fill in the blonks.

Jug A contoins e ml of woter.

The copocity of Bottle B is

The woter in Jug A fills up Bottle B ond the two cups.

I ne copocrty oT eocn cup ts _

.(o)

(b)

(c)



6.

Number
ofpots

of plonts ore there in Gorden D

mony pors or
gordens?

plo nts ore there oltogether +L^

6523 people ore on boord o ship.
3806 of them ore moles.
How monv ore femoles?

Study the groph ond onswer these questions.

(o)

(b)

How
thon

How
fou r

mony more pots
in Gorden A?

67



8.

I

I

Mrs Chen 'nrade 157
She kept 37 pies for
She pocked the rest
How mony boxes of

pres.

her fomily.
into boxes of 8 eoch
pies were there?

for sole.

9. A stomp
A photo
Find the

olbum costs 912.50.
olbum costs $3.50 more thon
totol cost of the two olbums.

the stomp olbum.

58



REVISION 4
1. Add or subtroct.

2. Multiply or divide.

(o)
2367

+ 643

(b)
3578

+ 2422

(c)
2569

+ 1446

(d)
3154

- 846

(e)
4036

- 2068

(f)
4232

- 1878

(o)
58

x7

(b)
106

x8
(c)

384
x6

(d)

3 )84

(e)

8)=bz

(f)

eT4s2

69



t
3. @^Y

,Wwa,"P.",E4
rdcket oor

|.-='4|>rorvDooK I -^.^ I/l lu o" 
'

-1--'-? Wotch

Footbqli

(o) How much cheoper is the storybook thon the T-shirt?

(b) Copol bought the wotch, the bodminton rocket ond the
footboll.
How much did he spend oltogether?

(c) Weilin bought o ping-pong bot, o storybook ond o T-shirt.
She gove the coshier $50.
How much chonge did she receive?

70



4. Mory opened o l-litre corton of milk.
She dronk 250 ml of it.
How much milk wos left?

5. 4328 footboll tickets were sold on Soturdoy.
5860 footboll tickets were sold on Sundoy.
How mcny footboll tickets were sold on both doys?

6. Mrs Wu gove her 3 children o pocket of 204 stomps to
shore equolly.
How mony stomps did eoch child get?

7'l



7. Lily bought o hongef ,forr$1;25 ond
She gove the coshier $20.
How much chonge did she receive?

T-shirt for $:12.50.
.:

8. A wotch costs $164.
It costs 4 times os much
Find the totol cost of the

os o colculotor.
wotch ond the colculotor.

72
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